Ancwers
Math 2050 Test 3 March 24, 2010
Instructor Margo Kondratieva
Student o ) Student number
z+y+z=0
1. Consider the following system of linear equations ¢ 2r —y —2z = -3
2u+4z=4

[2] (a) rewrite the system in the matrix form AX=B
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b) solve the system
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[2] (c) Complete the sentence by circling what is appropriate:

"This system of equations geometrically represents...”
— three lines intersecting at a point

— three planes intersecting at a line

@mm intersecting m@

— two planes intersecting with a line

- none of the above
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3] (d) express vector | —3 | as a linear combination of the columns of matrix A from (a)
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9. Consider the following augmented matrix | 0\1 2 0 1|-3
00 2 0 4
[6] (a) solve ooﬁmm@ou&bm system of linear m@cmsgm and write the solution in the vector form
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[1] (b) write the homogeneous system of equations corresponding to the system solved in (
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E A v write mobmam_ moESo: of the roEommUwocm m%mﬁmB reported in (b) and explain how it

is related to your answer in (a).
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3. [8] Let A = T,m ml L u;qu?w_.

Find A7}, C! and then find matrix X m:ow that
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4. Consider augmented matrix of a system of linear equations

0
0 3 k+2 0
[3] (2) For which values of k does the system have no solutions? Explain.
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(3] (b) For which values of k does the system have a unique solution? Explain.
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[3] (c) For which values of k does the system havé infinitely many solutions? Explain.
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[3] (d) For which values of k does the system have zero solution? Explain.
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[4] (c) solve AX=
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